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.. Meaning of economic growth and economic development, explain the indicators of
economic development

14
OR
(A) Explain the gender related index of economic development. 7
(B) Write a short note on physical quality of life index. 7
2. Explain the economic growth model of Prof. Harrod: 14

OR
Explain the economic growth model of Ragnar Nurkse and evaluate it.

3. Explain the characters of birth rate and death rate in India. | 14
OR -
(A) Write a short note : Povérty Line
(B) Describe Population problem.in developing country.

~

Discuss the reasons©f imbalance income with reference to India. 14
Ry b - ~ |
. (A) Write a short note: Sustainable Develo ment
| (B) Explain : Global warming. S | ;
5. Forfollowingeach question, select the best answer 14
(1) D‘eyelnpment 1s a versatile process.
This statement is given by _ ;
Eé) Mahsboob-l-hag (B) Michael P. Todero
)" Kindal berger (D) Gerald Mayer
(2) With reference t H : ' s
o 0 Human dEfelopment index in 2010 India ranks at in the
(A) 120 ' .
(C) 119 Eg; }gfli
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(3) Which country in the world comes at first place according to the parameters of the
physical quality of life index ?

(A) Britain | (B) Sweden
«€) China (D) America
(4) Which sector has been suggested to prioritize for development by Hershman ?
+(A) Agriculture sector (B) - Capital industries
(C) Infrastructure (D) Consumer industries
(5) Harrod’s growth model equation :
H Cr
_ (A) _' GW =15 | | (B) GW="g
/_,(e)’ GW = Cr xS | (D) GW =SCr
(6) Balanced development means |
(A) all sector development (B) service sector development

(C) agriculture sector development (D) industrial sector development
(7) What is the relationship between population and poverty ?

“inverse (B) one-way
"~ (C) -two-way (D) none of the above
(8) Which economist presented the principles of population transition ?
(A) Caynes —(B) _Koul & Hoover
(C) Malthus (D) Pigou
(9) The formula of Human poverty index is
| Py +P;+ P, Pot+ P +P,
) P=——3 — ®), P,=——3
Po+P +P; .7 ¢ S P_P::"'P|+P3
(C) P, = 2 . ) = 3 |
(10) How many parameters for unemployment are given by the Planning commission of
India ? | |
(A) ‘two {B) four
(C) three | (D) five
¢ (11) i§ the main reason for income inequality in rural regions of India.
(A) Wage difference .. .(B) Unequal distribution of land ownership
(C) 'Difference in work efficiency (D) Hidden unemployment |
(12)<When was thé Kyoto protocol implemented ?
(A). April, 1998 (B) November, 2001
AC) December, 1997 - . (D) March, 1994
(13)“Which pollution is not man-made ? |
* +tA) Sea pollution (B) Radio-active pollution
(C) Thermal pollution (D) Wildfires
(14) Who gave the concept of social dualism ?
(A) J.H.Boyke (B) H. Mint
(C) Benjamin Higgins «D). Lorrenz
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